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Stat 1450, Exam #l- ,  Fal l  2013 N a m e

Instructions: Show work, Provide complete expla
procedures outl ined in class,
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4, Describe a situation in which you might
points)

a retrospective to a prospective one. (L0
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5 . ln a study of 223 students in a high school th program, the
test, Use this dcreated from test scores on a part icular ma

frequency table and the corresponding h . Be sure to la I your axes correctly. From
the graph you draw, does the graph look a imately sym ? Or does it  appear to be
skewed (and in which direction)? (28 points
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7 , I  googled for "bad stat ist ical  graphs" and a ng the  graphs  tha !  came up was the  one be low.
Give at least two reasons whv it 's a "bad ph" .  (8  po in ts )
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8. The data from Problem #5 is reproduced .  Calculate the of the data set. (L2 points)
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Class Frequency
40-49 3
s0-59 18
60-69 4 t
70-79 87
80-89 45
90-99 23
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LL, According to the Empirical rule, how much f the data must be in 3 standard deviations of
the mean in a normal distr ibution? How does Cheby s Theorem guarantee for any
dis t r ibut ion? (12 points)
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12. The SAT has a mean of i .5i.8 and a standardeviation of 325. Y ur friend scored a2t60.
Calculate the z-score for this data point. ls is  an unusual  va ? (8 points)
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14. Using the data below for FICO scores, give
data to draw a box-and-whisper plot. (18
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